01. Mount toggle switch Guide ID: 38 - Draft: 2019-03-29

cron
01. Mount toggle switch

This document was generated on 2021-12-25 07:44:01 AM (MST).
© 2021 cron.dozuki.com/ Page 1 of 3



01. Mount toggle switch Guide ID: 38 - Draft: 2019-03-29

Step 1 — Parts required

o Toggle Switch Assembly
® 2 pcs M4x12 Cap Screw

® 2pcs M4 Lock Nuts

Step 2 — Tools Required

e Small Flat Screw Driver
o No 7 Spanner

= 3mm Allen Key

This document was generated on 2021-12-25 07:44:01 AM (MST).
© 2021 cron.dozuki.com/ Page 2 of 3



01. Mount toggle switch Guide ID: 38 - Draft: 2019-03-29

Step 3 — Mount the toggle switch assembly

e Mount the toggle switch assembly onto the bottom of the front plate of the CNC machine as shown

@ Use the 2 pcs M4x12 cap screws and M4 lock nuts for this step

Step 4 — Connect toggle switch to E-Stop

o Connect the short red cable (centre pin on toggle switch) to the orange side (normally closed) on
the E-Stop

This document was generated on 2021-12-25 07:44:01 AM (MST).
© 2021 cron.dozuki.com/ Page 3 of 3



	01. Mount toggle switch
	Written By: Paul Cronje
	Step 1 — Parts required
	Step 2 — Tools Required
	Step 3 — Mount the toggle switch assembly
	Step 4 — Connect toggle switch to E-Stop


